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Weekly assessment (5)

Second Year Preparatory Second Term 2024 — 2025
Algebra: Factorizing by completing the square
Geometry: Area of some geometric figures
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First Group

1) Find the area of the square whose diagonal is 8 cm.

2) Find the area of the rhombus whose diagonals lengths are 12 cm, and 10 cm.

3) Find the area of the trapezium in which the lengths of the two parallel bases are

6 cm, 8 cm, and its height is 5 cm.

> Factorize of each of the following completely:

4) x* + 4

5) x* — 28x%2 + 16



Weekly assessment (5)

Second Year Preparatory Second Term 2024 — 2025
Algebra: Factorizing by completing the square
Geometry: Area of some geometric figures

Second Group
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1) Find the area of the square whose diagonal is 12 cm.

2) Find the area of the rhombus whose diagonals lengths are 10 cm, and 6 cm.

3) Find the area of the trapezium in which the lengths of two parallel bases are

7cm, 9 cm, and its height is 6 cm.

> Factorize of each of the following completely:

4) x* + 64

5) x* + 9x2 + 81



Weekly assessment (5)

Second Year Preparatory Second Term 2024 — 2025
Algebra: Factorizing by completing the square
Geometry: Area of some geometric figures

Third Group
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1) Find the area of the square whose diagonal is 4 cm.

2) Find the area of the rnombus whose diagonals lengths are 8 cm, and 12 cm.

3) Find the area of the trapezium in which the lengths of two parallel bases are

4cm, 6 cm, and its height is 5 cm.

> Factorize of each of the following completely:

4) 4x* + 1

5) 9x* — 25x2% + 16





